
T-iabtitote.si

tokroutoik.de/ecteRlt)-fiobilitokaRlt)--PlTstl0k@t=o
)

defectare
A

1 0
☒

Mp
0ham



If Rj F↓Rf If I t
ME •

xnxx.lk/x------x1K----*0TTT-nTTRiTT-TzTTRzTT-T]
TTR
} - - -

MTBF = [ TT
i n

MTR = ?

Dispomibtito.ie - Alt )

2-TTFI

A =
i__ =MTBFETTT-it-2.TTRi MTBF + MTR

i i



Avoihobiityl%7Dowmh.me/yeo~DowmtiuehuathDountime / week
90% / "oueuiii ) 36 ,Tobys 72h 16,8h

99%42 wines ") 3,6506g , 7,2h 1,68h

99,9%1
"
> wines") 8,76h 43,2min 10.1min

99,99%144 mints) 52.56min 4,32min 1,01min

99,999% 5,25min 25,9s 6,05s

99,9999% 31,5s 2,59s 0,605s



Probability theory 101

◦ ≤ PIA)≤ 1

PITT ) = A-DIA)
Pf AIB) - Prob Acomol 0613

PIA •B) = PLAID) .PH)
Docs

.

Asi B nut independente
Pl A. D) =P / A) • PIB )
PIA +B) =P (A) + PIB) -PIA -B)
Does. A si D sunt mutual exclusive ⇒PIA . B)=P/B.A) = 0

PIA +B) =P / A) +PIB)



Ioilure Rote → Alt) - imteusitateadefct.iuui.br
µ

☆ • • • • • o_0 • • • • •
• • • 0 • • ◦ • •

AND i
f i "thing
' I ' II
I i Curve

'

i !
! i
r I
I '

☒

1- CLOG SCALE)
I - nuontolitoteinfnthi
I -viat.autto-I-imb-o.tw?niAt



Failure rate - software

111th
a- first
release

new

↓
whose

s ' '
\

bug fixing
bugfixingsagain )

>t



Coikuadefiuifii moi :

f- It _ fine tie deusitote pnboblitole. (Pdf )

I / f) - fine tie cuunlotiué distribute piobob.li tote

f. A) = 1--11-1=1+7137013
Rtt ) = 1- Flt )

✗ HI =¥¥⇒ ⇒ dH=¥¥g
f- It ) = =

- 1)
= - 0¥11

an =
=
-÷, ᵈ÷¥



A-proximowww.kmatiw-iadk-I-fobsimdistribu?iaWeibueEfH1--dptP-'

e-
dᵗP

- do,cÉp< 1 ⇒ AH )↳⇒ 170ha I pegrof.cl
-
dawi p = i ⇒ AH)=ct Kona I pegrojic )1) It )=dptB -1

- cobia psi ⇒ Alt) 9- 170ha Ipe gratia )

1114
I I I

:

13<1. 7=1 ; 13>1

i.

:

;!
;

dH1=ct=× i

;
t



1. Coital in com Alt) = Ct = A (

perioaoladeuia.to?utihiapwolusulni)dlt)--A---¥, 012¥ ⇔ dolt = -¥, drift ⇒

⇒ f dolt = - f ¥, ◦IRH) ⇒ It + c. =
-
th RH) + ez ⇒

⇒ bn RH) = - At + C ⇒ RH) = e-
"ᵗ"

= K . e-
#

Dacoit = 0 ⇒ RIO) = K - pukmsa-pmsupumein.ee sisknue
ponneste b- Momen the aero de limp in store de fun e.tiomon , 069

'

R lo) = 1 lfiabtitote 100%7 - ◦ legan 1<=1 ⇒

R It) = e-
"ᵗ

RAM

1-

◦ £



MTBF =↑RlHdt=§e-dᵗdt= e-
"+19=-1-6-" °- e- "%

0

=
- ± / ◦ - a) =±

Deci
, pt AH)=ct=d , MTBF -_ ¥

AHA
I

,

I ÷
;
"I

"
"

;;iw=i=¥±

"
"

"

"

"

i
; ¥



2. Dacia Alt ) =/ Ct Ipt .

tomek

montolitakinfontila-giimbo.tn?nire)fk-)--dptP-'e-dtPtT-H)--[ f- toots -- ftp.zp-ie-dzfots =
. . .

= a - e-
" ᵗP

0

doin Rtt ) = 1-Flt) ⇒ Rtt ) = e-
ᵈᵗP

D D

MTBF =§RH1dt=f e-dᵗ%t=l
pgp

_ ,
i

""K 1^1*1 estefunc.hu
O

o

gamma , definite pain : ik) = ! e-Fyi
'

dy si este extension pt .

Numen mole a fuuctieifoctoriole / M ! )

1^1×1=1-1 + × ) if _ a +×)
↑

6
i

•

J

4 -Ttx) =It's -

2 - •

1^10) = if e) = 1 i
• • j
◦ i

'

z i i.



Estimareo- fiabtitoytii
Folosiru oliagrorue pentru a Modelo

, .si estimafiobilitotea
Modulo n'sore : oria siskin

,

Oriol de complex , pootef
'

mode lot fiabilistic ca un Mookie defiob.li tote dots Rtt) :

Rtt) → Pirate fi Oria disposition ( proa son , olcnbtn , Telefon etc
souoriasecuen.to

'

06 cool fbibliokojfmgtie.cb.SE etc .)
De ex

. : Done proceso one a acceseoto-OA-asinhlmrie.jp
, , , ,Primal pieceson one ofiob.li tote R , H) , ol obiha Rzlt ) si Mamou

Does Ri = 90%
, 122--80%9

'

R
> = 99%

,

Gt este RT.tn ?
90%

Rit) 99%

80% Rslt) I RTH)
Rzlt)

?



structure Serie - m module in Serie

Ritt) BH) BH) Rutt ) Rslt )

Rs / f) = Ritt)

.kz/t).---.Rm1t)--FlRilt)i--lRslt)--MRiIt)i--iDeex.:
90% 84% 88% 55%
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